Operazioni con i radicali

vousmaTHs Equivalent radicals The number 2V/6 is not equal to:
[a] V6 +V6.

V3VE.

[c] 2V3 +2V3.

OV

[E] any of these.

Let us modify every expression in order to understand whether it is equal to 236 or not.

Considering option A, the equality V6 +V6 =216 holds.

Considering option B, the equality V318 = 2V6is true; in fact:
V3-V8 =v3-2V2=2V3 V2 =2v6.

Considering option C, 2\/3 +2V/3 # 2V6; in fact:
2V3 +2V3 =4V3 £2V2 V3 =216,

since 4 # 2V2.

Finally, considering option D, % =2v/6 is true; in fact:

12 Ve 12 12 _
\@—\@-\@—\/6-7—2\/8.

Therefore the correct option is C.

Copyright © 2017 Zanichelli editore S.p.A., Bologna
Questo file € una estensione online dei corsi di matematica di Massimo Bergamini, Graziella Barozzi e Anna Trifone



